Informg| Kor

pasic steps tO conjugating the 2 form are
e ¢ as so:

1 | !
he verb stem. “ 4
, cett

€an .

add OF after t or - or add 0f a0, —
' \q (‘l"(\

3. Attach 2.
C
emove the ff E;t ttl‘e em: 9f a} verb to get the verb stem. Then |
| vowe e
ast syllable. It tha IS T or ., then attach Of to the N 100k at the vowe | e
anythind else, then attach Ol to the end of it. Then attach 9 end of it If thar vowel i«

ater getting the verb stem of YL}, which is ¥, we look at the vowel in the last syilabf
5 . - 2. i -
The last vowel in & is 1, which isn't | or , so we attach Of to the end. Then weyattaceh

2 and we're finished.

Let's look at another example.

N o:t):
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O
o

O
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First we take the verb stem of ZCt, which is &. Then we look at the vowel in the last
sylable. Here, the last vowel of Z is -L, so we attach Of to the end. Finally we attach &

to the end,
are also some other

Alt . . : i e
hough this is the basic rule for conjugating the £ fomt; thes ch of them one at 3

tru s to consider depending on the type of verb. Let's go over €2
me,

] nts \"
~—_ ule 1: Ends in a vowel WIW
then instead of

f T pottom
ath.e Verb stem ends in a vowel without any consonants on the s, the OF of of ending
w?dmg O or Of to the end of it like we did in the above exe;:nszun'ds.

“Ombine into the last syllable. This is much simpler than
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Jtct 2 2t
()2
> I8

stop > 7t

’ chis 2}, we look at the vowe
the verb stem of P, it ‘owel in the 1.
attach O} to the end A%t

fter taking ' V.
A lis |, sowe would normally s

The last vowe
But see how the Ot combined into 21?7 This is because it has the s3ma e
e unnecessaty to dr
ace. This rule makes 1t easier for us to 5ay thesa ol

MW al .
¢ q 'rl' r
ag out the sound and say Z}0t % <, thi ir

-

» ‘M

it would b
exists in the first p!

> r" jar
quickly. /
Q> 2

@ ()= 20t > &t
Lo

Saying 20t quickly will sound like 2} anyway.

Fo>F .-
FTM>EoH A
> Fe

Let's take a look at one more.

2> &
2 () > EOF > H}
> e
/’—_\-'

@ule 2: Ends in | \
~N

If the verb stem ends with |, then instead of adding OF or Of to the end of it,the =
O] ending will combine into the last syllable. This is similar to Rule 1, and works n e
same way. However, since | is not - or |, you will always add 1 to the end.

ORAICH > OpA|
ORAl (1) > OFAJOf - OFA
>oe T

It should feel natural to apply this rule as well.

7t2X(CH 5 JpE K|
CZEEX (1) > 720 > stany

> 7i2nie

O

le | c
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e more example.

Here'S 0

e B

g () mjof> ¥

#8 ) |
SIS Rk"e% Ends in j

SIS
e

e —. Then you will need to lock at the Znd
rt, add’_t_ to the end. If it's ary

t—

m ends with —, first remove th

if the verb ste
to last syllable. If the 2nd to last syllable ends in 4 0

dd 1 to the end.

other vowel, @

grasct > HHE
o (—) > B

e left with Bfue, so we had to then

e removed the — we wer
}, we added I to the end. Then

In the above example, after w
H}. Since BF ends in

look at the 2nd to last syllable -
we finished by attaching e

Bt S Of &
O (—) > Off
Ow + 4 > Ot
2> OjiHe

In this example, after we removed the —, the ond to last syllable is_@l_so we added_i

to the end.

0o m
I
M+ > M
2 N8

Here, there is no 2nd to last syllable, because the entire verb is only two syllables. In this

Ca '
%€ you'll always add 1 to the end.

the only syllable to look at is
d if you remember from our

ding 1 t0 the end.

The reason you'd always add { to the end in this situation is because
M s all that's left, an

t -
v bhe,|35t one remaining. In the above example, T
asic rules of conjugation, — is neither I Of " so it would require @




ey dl v~
r | Informat ™= 77
E Lo Rule & Ends in =) \

e

like in Rule 3, this is a special case, When ¢ .
n add an extra 2 to the bottom of the Verg

last syllable; if it's b or 1, aqq }2\\%

also ends in
tO th‘:

he —. The

Although £ technically
t the 2nd to

stem ends in £, filit_*fgﬂ?ﬁ?y‘—fl )
last svllable. Finally, ook again «

end. else add 1 to the end.

zact> 2=

22 @)> e

22 (1) 82+ | > 28
> =2t

here are multiple steps, but don't worry ag, , ’
orean, and the ones you will use are sg cow—r;
ly just from using them often.

This might seem a bit confusing since t
There are only a few of these verbs in K :
that you will be able to memorize them easl

g2 > 72

22 (2)> f=

g2 (TM)> =22+ 1> =
> =88

Let's take a look at one more example.
Ol2ct 5> of2

Ot2 (2) > Of=
T (h)>%= + | > oug

> Zete
//,—-—\ - h
(R I . J\ ol
ule E% Ends in & (Descriptive Verb) 5 A
— - e

FEL > 23

FH (=) > 23
FH+ 25 Hao
FHLR 4+ 1> “?"31%’—4
> 2899

Let's look at another example
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qemember that this rule only applies to descriptive verbs. Action verbs that end in = will
not conjugate using any of these special rules, but will conjugate completely normally.

An exception to this rule is the action verb 2L}t ("to bake”) which conjugates to become FHR.
In addition, some descriptive verbs that end with the sound SCF (BC &L . etc) will aiso
conjugate uniquely.

Zct > 1248

oe A~ 3 e < 0P

EC> Eota

But many will still follow the general rules.
MECH> M2R2

QELCH Q2SR

TCHECH S MR

[ fes.
Take heed of exceptions as you s€€ them, but remember that most verbs will follow the ru

Rule 6: Ends in H B

| th
't need to add anything other than £ to the

f the verb stem ends in H, then you don

end.

2t 5 gy
> BEYg

Here’
'¢'s one more example.

MEH 5
> Ne
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act > 2
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Here's another example.

And here's one last example.

2> &
EC)>F+a2>8

2082
However, there are also a few common verbs that do not follow this rule that you shc.c

keep in mind.

et > Yojg
25 gote
2CH> dojg
Rule 8: O{ ¥}, 2=ic} o)aict —_—

These three verbs conjugate differently
L} becomes g,

TH0| oy g?
How are your classes?"

12t becomes 2y Q

O, Jay g,
“Ah, really?
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\ Olgﬁf

BHAL Ol &2
It's always this way."

RAule_?ii}q and &|C} _—

\ds in SHEE or if the verb is just 3tC} it <
f the e verb that ends in StC} bt . JUSt. ,OH'}' 't Simply becomes 21 a This 1 /
apP“es to any » Whether it's a descriptive verb or an action V’ ;)J e
- er
st > !
5 2
|
! Lere's One more example.
z8itt > SFOH
EET RS
- A|  you might also see 80 instead of 3 in some situations, such as books. This is an older form of %.

Don't use it yourself in spoken Korean, but know what it means when you see it.
v

¢the verb ends in EIC}, or if the verb is just =l C}, you have two options. First, you couid
— _

conjugate it normally using the basic rule.

gt &
g+ 0> 5N
> o

Or, %/Ct can simp! HEe.

HCH > gf
> Ee

| —

\

. hoice.
Although either one is correct, & is definitely the more popular ¢no!

. hing itself on
A | {.Imagine 1 attac
. vowe
d & comes from a combination of the diphthong 1| and the

' the right side of &I, and you'd get g, //
Rule 10: OItt and OLL.L—’—'/

\
e in the £ for™:

s best to simply memorize how these verbs conjugat
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er—— e

0|CH > 0o or 8

OfL|C} > ofL|ol R

fc '
a4 consonant, or O 2 when following , Voue)
s O — A

X 0] ALY oo,

" am an American.

WINC
O|C} becomes O 8 whorﬂ;/)/

e SR
ul am a maﬁ."

o

OFL|C} simply becomes OFL| 0| 2.

X oh2 AFZHo| ofLjofle.
“I am not a Korean.”

Remember that OFL|C} is used together with the Subject Marker (O|/7}).

A common mistake that native Korean speakers will make is writirTg'OHB as 01]3. This is because
0l 2 when spoken in conversation is actually pronounced £ - this is much easier to say.

Rule 11: Irregular Verbs

There is no Rule 11, but Korean does have many irregular verbs which have their owr

way of conjugating. A few examples | gave specifically are &}Ct, Z|Ct, O|Ct, and OtL&
but there are others too.

. . " ) . . . out
Instead of teaching every single additional irregular verb in this book, it's best to go &

' - erir‘@
and learn them on your own. I've covered some of them already, and | will be 0¥
more in the future,

Don't be afraid of 3 few ver

. s &0
bs not conforming to the rules. The vast majority of ver
follow the rules, byt there a

re some here and there that do not.

pow
Learn these rules as well as YOU possibly can before continuing on. Knowind ™
conjugate the 2 form

: ills to ¥
, orrectly is one of the most commonly needed skills
speaking Korean. y

Now that we've got all of that out of the way, let's go over the conversation:

. p

EVE
sucC

ot



